
PR
O

D
U

C
T 

C
A

R
D

SHOWROOM
–
Parchment House  
13 Northburgh Street 
London EC1V 0JP

CONTACT
–
info@workstories.com  
+44 (0)20 3735 5224 
workstories.com

Co.StoriesCo.Stories

MADE IN 
THE UK





Co.Stories
Designed by ALBION

5

Available with a Forbo ‘Nero’ top and solid ply core, the edge detail catches 
the eye and makes the optional pull-out lid wow. All manufactured to order 

in the UK, in 100% recyclable materials. 

D
E

S
C

R
IP

T
IO

N

The Co.Stories bench is the ideal collaborative table; bringing style, functionality 
and robustness into one. Co.Stories meeting utilise a straightforward leg to rail 
connection to create a stable product whilst providing a cost-effective solution  

for both meeting and bench configurations. This is British craftsmanship made to 
last, for spaces that need to deliver.



6 7

Frame – Black (smooth satin)
Raw (smooth satin)
White (textured matt)

Top – Forbo ‘Nero’ with ply edging. 
          Also available in all standard  
          MFC options, as well as any  
          bespoke finishes. P.O.A

Top – Laminate on solid ply core
Frame – Tubular mild steel

Finishes

Materials

F
IN

IS
H

E
S

Dimensions

1 Person 
 
W: 980, 1180, 1380, 1580, 1780mm 
D: 680mm 
H: 733mm

More sizes available upon request.

2 Person 
 
W: 980, 1180, 1380, 1580mm 
D: 1380mm 
H: 733mm

4 Person 
 
W: 1780, 1980, 2180mm 
D: 1380mm
H: 733mm

6 Person 
 
W: 2180, 2380mm 
D: 1380mm
H: 733mm

H
: 7

33
m

m
H

: 7
33

m
m

H
: 7

33
m

m
H

: 7
33

m
m

W: 980, 1180, 1380, 1580, 1780mm

W: 980, 1180, 1380, 1580mm

W: 1780, 1980, 2180mm

W: 2180, 2380mm

D: 680mm

D: 1380mm

D: 1380mm

D: 1380mm

D
IM

E
N

S
IO

N
S

C
o.Stories



8 9

Co.Stories can come with an additional lift-out flap.  
The 20mm gap on both sides allows room for power 
modules. Optional single and double trays are available.

Features
F

E
A

T
U

R
E

S

Workstories Ltd offers a 15-year warranty on 
our Albion range.

This applies only if products have been used 
within and by standard off ice conditions. Wear 
and tear must be expected from normal use 
and are not covered by the warranty.  
 
 
FRAMEWORK 
– 
Albion frameworks are considered to be 
maintenance free. However, where cleaning of the 
frame is required, a mild detergent solution should 
be used. Use of harsh abrasives, acids, alkalis or 
bleaching products is not recommended. 
 
LAMINATE: FORBO FURNITURE LINOLEUM 
– 
Please refer to the supplier’s instructions:   
https://www.forbo.com/flooring/en-gl/products/
linoleum/ furniture-linoleum/bnare2#panel_104

CABLE MANAGEMENT 
– 
Ensure no liquid is allowed to access the power 
modules. Should this happen, isolate from the 
electrical supply immediately and consult a 
qualified electrician. 
 
SAFETY WARNINGS 
– 
Furniture can be dangerous if improperly 
assembled or installed. Assembly should be 
completed by a qualified person following the 
provided assembly instructions.  
 
Do not stand on furniture, as it could cause a fall. 
With assistance of another person, always lift, do 
not drag large or heavy furniture into position. 

Workstories is dedicated to being environmentally 
conscious. We strive to ensure the continued 
availability of natural resources for current and 
future generations, and as part of our mission,  
we recognise the responsibility to protect human 
health, the environment, and natural resources, 
and to continually strive to improve the 
environmental quality of our operations.

To carry out this commitment, it is our policy to 
ensure all our factories:

Meet or exceed the requirements of all 
environmental laws and regulations applicable to 
our operations. 
 
Limit our impact on the environment to the extent 
practicable and work to reduce recognised 
environmental risks to our employees and the 
communities in which we operate by employing 
safe technologies and operating procedures.

Continually assess our environmental programs 
and monitor our environmental performance. 
 
Have operating policies and programs in place  
to implement our Environmental Quality Policy.

En
vi

ro
nm

en
ta

l P
ra

ct
ic

es

W
ar

ra
nt

y
G

en
er

al
 C

ar
e

G
E

N
E

R
A

L
 C

A
R

E
 &

 W
A

R
R

A
N

T
Y

https://www.forbo.com/flooring/en-gl/products/linoleum/ furniture-linoleum/bnare2#panel_104
https://www.forbo.com/flooring/en-gl/products/linoleum/ furniture-linoleum/bnare2#panel_104


1 11 0

page 11www.racksystems.co.uk

Assembly Instructions

Note orientation 
of rail

Spigot

B

D

A

C

Leg assembly Rail Bung & foot M6 x 15 bolt

Pcs A B C D

Qty 4 4 4 16

page 11www.racksystems.co.uk

Assembly Instructions

page 11www.racksystems.co.uk

Assembly Instructions

page 11www.racksystems.co.uk

Assembly Instructions

page 11www.racksystems.co.uk

Assembly Instructions

tool required

4mm 
allen key 

thank you for your purchase!This page lists the contents included in the box.  Please take time to identify the hardware as well as the individual components of the product. As you unpack and prepare for assembly, place the contents on a carpeted or padded area to protect them from damage. Please follow the assembly instructions closely. Improper assembly can result in personal or property damage.  2 adults are required to safely assemble this product.

!

airfoil G28T TABLE / 160cm, 180cm, 200cm

cleaning and care
•  Clean surfaces with a dry or damp soft cloth. 
•  Use water-based cleaning agents only.  Do not 
    use oil or solvent based cleaners.•  It is recommended to use coasters to protect   
   surface from heat and water. Do not leave spills       
   unattended.•  Periodically check and tighten hardware as        
   necessary.

Made in China - r01

1/2

www.madfurnituredesign.com

x 01

x 04

x 01

x 22

hardware
components

•	 Insert foot & bung into leg assembly
•	 Place leg assembly upside down on floor
•	 Noting orientation insert rails on spigots
•	 Fix in place using M6 x 15 bolts
•	 Fix assembled frame onto desktop to complete

Assembly guide Assembly guide

Leg assembly Rail In-line leg Triangulation 
bracket Bung & foot M6 x 15 bolt

Pcs A B C D E F

Qty 4 6 2 2 6 22

page 11www.racksystems.co.uk

Assembly Instructions

page 12www.racksystems.co.uk

Assembly Instructions

page 12www.racksystems.co.uk

Assembly Instructions

page 11www.racksystems.co.uk

Assembly Instructions

page 11www.racksystems.co.uk

Assembly Instructions

tool required

4mm 
allen key 

thank you for your purchase!This page lists the contents included in the box.  Please take time to identify the hardware as well as the individual components of the product. As you unpack and prepare for assembly, place the contents on a carpeted or padded area to protect them from damage. Please follow the assembly instructions closely. Improper assembly can result in personal or property damage.  2 adults are required to safely assemble this product.

!

airfoil G28T TABLE / 160cm, 180cm, 200cm

cleaning and care
•  Clean surfaces with a dry or damp soft cloth. 
•  Use water-based cleaning agents only.  Do not 
    use oil or solvent based cleaners.•  It is recommended to use coasters to protect   
   surface from heat and water. Do not leave spills       
   unattended.•  Periodically check and tighten hardware as        
   necessary.

Made in China - r01

1/2

www.madfurnituredesign.com

x 01

x 04

x 01

x 22

hardware
components

page 12www.racksystems.co.uk

Assembly Instructions

Note orientation 
of rail

Note  
orientation  
of railSpigot

Note  
orientation  
of leg

D

BC

F

A

E

page 11www.racksystems.co.uk

Assembly Instructions

•	 Insert foot & bung into leg assembly
•	 Place leg assembly upside down on floor
•	 Noting orientation insert rails on spigots
•	 Fix in place using M6 x 15 bolts
•	 Fix assembled frame onto desktop to complete

- With intermediate leg

C
o.Stories

A
S

S
E

M
B

L
Y

 G
U

ID
E





workstories.com

Last updated: 12/07/2023


